
 

 

 

 

 

 

 

 

 

 

Bin Clamp 

  

Parts Manual for H650A 

 

 

  



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 1 

Contents of Parts Manual 

Main Assembly   2 

Base Frame Assembly   3 

Sliding Frame Assembly   4 

Hydraulic Components   5 

Mounting Options   6 

Blank Worksheet   7 
 

  



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 2 

Main Assembly 

 

 

ITEM NO. DESCRIPTION QTY. 

1 Base Frame Assembly 1 

2 Sliding Frame Assembly 1 

3 Hydraulic Components 1 

4 Mounting Options 1 

   



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 3 

Base Frame Assembly 

 

 

 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 HF-2262 H650A Mount Frame Assembly 1 

2 HF-2265 H650A Top Slide Bushing 6 

3 BN-06590 H650A Cover Plate 2 

4 538037C0050Z 3/8-16 x 1/2 GR5 Whiz Bolt Serrated Flange, Zinc 4 

  



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 4 

Sliding Frame Assembly 

 

 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 HF-2263 H650A Sliding Frame Assembly 1 

2 HF-2264 H650A Flat Hold Down Assembly 1 

3 HF-2266 H650A Bottom Slide Bushing 8 

4 500037C0125Z 3/8-16 X 1-1/4 GR5 Hex C/S Zinc 8 

5 202037N0000Z 3/8" Lock Washer 8 

6 201037C0000Z 3/8-16 Hex Nut Zinc 8 

 

  

Call for additional 

top stop options 



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 5 

Hydraulic Components 

 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 SW2571 Hydraulic Cylinder – 2” bore, 40” stroke, Clevis 1 

2 RDDALANFAI Relief Valve 1 

3 202031N0000Z 5/16" Lock Washer 1 

4 500031C0175Z 5/16-18 X 1 3/4 GR5 Hex C/S Zinc 1 

5 Base End Hose 3/8" Diameter 11" Long Hose 1 

6 Rod End Hose 3/8" Diameter 40" Long Hose 1 

7 FS6801_06_08_NWO_FG 06MFS-08MORB 90° Elbow Forged 2 

8 6G-6FFORX90S GATES MC 3/8 BARB-#6F FORS 90S 1 

9 6G-6FFORX GATES MC 3/8 BARB-#6F FORS 3 

10 FS6804_06_06_06_NWO_FG 06OFS-06MORB Straight Thread Run Tee 1 

11 FS6803_06_06_06_NWO_FG 06OFS-06MORB Straight Thread Branch Tee 1 



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 6 

Mounting Options 

 

 

 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 HF-1484 Top Carriage Clip - Class II  2 

     No top clip for Class III (integrated into frame) 

2 HF-2173 Bottom Carriage Clip - Class II - Binding 2 

 HF-2174 Bottom Carriage Clip - Class III - Binding 2 

3 610075F0200P 3/4-16 X 2 Socket HD C/S Plain 4 

4 802075N0000YZ 3/4" Lock Washer 8 

5 801075F0000YZ 3/4-16 Nut 8 

6 800075F0250YZ 3/4-16 x 2.5" HHCS 4 

 HF-2185 Class II Binding Clip Kit (includes all clips and fasteners for one unit 

 HF-2186 Class III Binding Clip Kit (includes all clips and fasteners for one unit 

  

Upper Clips for Class III 

mounting are integrated 

into the Bin Clamp Frame 



Bin Clamp    
 H650A Parts Manual    

  

June 2021 1 (888) 338-0077  |  goclerf.com 7 

Blank Worksheet 

 

 

 

 

 

 

 

 

 

 

 


